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Part 1: Foundational Knowledge

What is a radical expression?

Hint: Think about expressions that involve roots.

(O An expression with an exponent

(O An expression involving a root v’
(O An expression with a fraction

(O An expression with a variable

| A-radical expression is an expression involving a root.

What is a radical expression?

Hint: Think about the definition of radicals.
(O An expression with an exponent
O An expression involving a root v’

(O An expression with a fraction
(O An expression with a variable

| Aradical expression involves a root.

What is a radical expression?

Hint: Think about the definition of radicals.
(O An expression with an exponent

O An expression involving a root v’
(O An expression with a fraction

(O An expression with a variable
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| Aradical expression is an expression involving a root.

Which of the following are perfect squares?

Hint: Consider the squares of whole numbers.

(J16 v
(J20
(J2sv
(]30

| The perfect squares among the options are 16 and 25.

Which of the following are perfect squares?

Hint: Consider the squares of whole numbers.

(J16 v
(J20
(J2s5v
()30

| Perfect squares are numbers that can be expressed as the square of an integer.

Which of the following are perfect squares?

Hint: Consider the squares of integers.

(J16 v
(J20
(J2s v
(]30

| Perfect squares are numbers that can be expressed as the square of an integer.

Explain the process of simplifying a radical expression. Include the steps involved.

Hint: Think about factoring and extracting roots.
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/

To simplify a radical expression, factor the radicand into perfect squares, extract the square root
of those, and simplify the expression.

Explain the process of simplifying a radical expression. Include the steps involved.

Hint: Think about factoring and extracting roots.

| The process involves factoring the radicand and extracting perfect squares.

Explain the process of simplifying a radical expression. Include the steps involved.

Hint: Think about factoring and extracting roots.

/7

To simplify a radical expression, factor the radicand into perfect squares and extract the square
root.

Part 2: comprehension
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Which property of radicals allows you to simplify V(a * b) into va * V b?
Hint: Think about how multiplication works with roots.

O Distributative Property

(O Associative Property

O Multiplicative Property of Radicals v’
(O Additive Property of Radicals

| The property that allows this simplification is the Multiplicative Property of Radicals.

Which property of radicals allows you to simplify V(a * b) into va * vV b?
Hint: Think about how multiplication works with roots.

O Distributative Property

(O Associative Property

O Multiplicative Property of Radicals v’
(O Additive Property of Radicals

| The Multiplicative Property of Radicals allows this simplification.

Which property of radicals allows you to simplify V(a * b) into va * vV b?
Hint: Think about how multiplication works with roots.

O Distributative Property

O Associative Property

O Multiplicative Property of Radicals v’
(O Additive Property of Radicals

| The Multiplicative Property of Radicals allows this simplification.

When simplifying V50, which steps are necessary?

Hint: Consider how to break down the number 50.

(0 Factor 50 into25*2 v/

(J Extract the square root of 25 v’

() Multiply the square root of 25 by the square root of 2 v/
() Leave the expression as V50
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The necessary steps include factoring 50 into 25 * 2, extracting the square root of 25, and multiplying the
results.

When simplifying V50, which steps are necessary?

Hint: Consider how to factor 50.

(0 Factor 50 into25*2 v/

(J Extract the square root of 25 v’

() Multiply the square root of 25 by the square root of 2 v/
() Leave the expression as V50

| The necessary steps include factoring 50 and extracting the square root of the perfect square.

When simplifying V50, which steps are necessary?

Hint: Consider how to factor 50.

() Factor 50 into 25*2 v

(1) Extract the square root of 25 v’

(J Multiply the square root of 25 by the square root of 2 v’
() Leave the expression as V50

| The necessary steps include factoring 50 into 25 * 2 and extracting the square root of 25.

Describe why it is important to simplify radicals in mathematical expressions. Provide an example to
illustrate your point.

Hint: Think about clarity and ease of calculations.

/

Simplifying radicals makes expressions easier to work with and understand. For example, V50
can be simplified to 5v2, making calculations simpler.
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Describe why it is important to simplify radicals in mathematical expressions. Provide an example to
illustrate your point.

Hint: Think about clarity and ease of calculation.

/

\S/implif\y/ling radicals makes expressions easier to work with and understand, such as simplifying
8 to 2v2.

Describe why it is important to simplify radicals in mathematical expressions. Provide an example to
illustrate your point.

Hint: Think about clarity and ease of computation.

| Simplifying radicals makes expressions easier to work with and understand.

Part 3: Application

Simplify the expression V/72.

Hint: Consider the factors of 72.

O6e2v
O 8v3
O 4v3
O 9v2
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| The simplified form of V72 is 6v2.

Simplify the expression V/72.

Hint: Look for perfect squares that can be factored out.

O6v2vy
O 83
O 43
O 9v2

| The simplified form of V72 is 6v2.

Simplify the expression V/72.

Hint: Consider the factors of 72.

O6v2v
O 83
O 4v3
O 9v2

| The simplified form of V72 is 6v2.

Which of the following expressions are correctly simplified?

Hint: Check each expression against the rules of simplification.

OVig=3V2 v
Ov32=4/2v
(OJVa5=5V3 v
(V75 =5V3

| The correctly simplified expressions are V18 = 3v2, V32 = 4v2, and V45 = 5V3.

Which of the following expressions are correctly simplified?

Hint: Check each expression carefully.

OVi8=3V2 v
(OV32=4V2 v
OVa5=5V3 v
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(V75 =5V3

| Correct simplifications include V18 = 3v2, V32 = 4v2, and V45 = 5V3.

Which of the following expressions are correctly simplified?

Hint: Check each expression carefully.

OvVie=3/2 v
Ov32=a/2v
() V45 =5V3
(V75 =5V3

| Correctly simplified expressions include V18 = 3v2, V32 = 42, and V45 = 3V5.

Rationalize the denominator of the fraction 5//3 and provide the simplified result.

Hint: Consider multiplying by a form of 1 to eliminate the radical.

/7

| To rationalize the denominator, multiply the numerator and denominator by V3, resulting in 5V3/3.

Rationalize the denominator of the fraction 5//3 and provide the simplified result.

Hint: Think about multiplying by a form of 1.

| Rationalizing the denominator involves multiplying by V3//3.
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Rationalize the denominator of the fraction 5//3 and provide the simplified result.

Hint: Think about multiplying by a form of 1.

| To rationalize, multiply by V3/4/3 to get 5V3/3.

Part 4: Analysis

Which of the following statements about radicals is true?

Hint: Consider the rules for adding and multiplying radicals.

O Radicals can always be added regardless of the radicand.

O Radicals can only be added if they have the same radicand. v’
(O Radicals can be multiplied only if they have the same radicand.

(O Radicals cannot be simplified.

| The true statement is that radicals can only be added if they have the same radicand.

Which of the following statements about radicals is true?

Hint: Consider the rules for adding and multiplying radicals.

(O Radicals can always be added regardless of the radicand.

O Radicals can only be added if they have the same radicand. v’
O Radicals can be multiplied only if they have the same radicand.

(O Radicals cannot be simplified.

| Radicals can only be added if they have the same radicand.

Which of the following statements about radicals is true?
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Hint: Consider the rules for adding and multiplying radicals.

O Radicals can always be added regardless of the radicand.

O Radicals can only be added if they have the same radicand. v’
O Radicals can be multiplied only if they have the same radicand.

O Radicals cannot be simplified.

| Radicals can only be added if they have the same radicand.

Analyze the expression V(a2 * b) and determine which steps are necessary for simplification.

Hint: Think about how to handle the variables under the radical.

() Extract a from under the radical v’
(J Leave b under the radical v’

(O Multiply aby Vb v

O Simplifyto aVb v’

The necessary steps include extracting a from under the radical, leaving b under the radical, and
simplifying to av b.

Analyze the expression V(a*2 * b) and determine which steps are necessary for simplification.

Hint: Think about extracting roots and simplifying.

() Extract a from under the radical v’
(J Leave b under the radical v

() Multiply a by Vb

(O Simplify toavb v

| Necessary steps include extracting a from under the radical and simplifying to avb.

Analyze the expression V(a2 * b) and determine which steps are necessary for simplification.

Hint: Think about extracting roots from products.

(O Extract a from under the radical v’
(J Leave b under the radical v’

() Multiply a by vV b

O Simplifyto aVb v’

| Necessary steps include extracting a from under the radical and simplifying to av' b.
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Compare and contrast the processes of simplifying V50 and V72. What similarities and differences
do you observe?

Hint: Think about the factors of each number.

Both processes involve factoring into perfect squares, but the specific factors differ. V50
simplifies to 5v2, while V72 simplifies to 6v2.

Compare and contrast the processes of simplifying V50 and V72. What similarities and differences
do you observe?

Hint: Think about the factors of each number.

| Both processes involve factoring, but the specific factors differ.

Compare and contrast the processes of simplifying V50 and V72. What similarities and differences
do you observe?

Hint: Think about the factors of each number.
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| Both involve factoring into perfect squares, but the specific factors differ.

Part 5: Evaluation and Creation

Which of the following is the most efficient method for simplifying v200?

Hint: Consider the factors of 200 that are perfect squares.

(O Factor 200 into 2 * 100
O Factor 200 into 4 * 50

(O Factor 200 into 10 * 20
O Factor 200 into 25 * 8 v

| The most efficient method is to factor 200 into 100 * 2, simplifying to 10v2.

Which of the following is the most efficient method for simplifying V2007

Hint: Consider the prime factorization of 200.

O Factor 200 into 2 * 100
(O Factor 200 into 4 * 50

O Factor 200 into 10 * 20
O Factor 200 into 25* 8 v

| The most efficient method is to factor 200 into 100 * 2.

Which of the following is the most efficient method for simplifying v200?

Hint: Consider the factors of 200.

(O Factor 200 into 2 * 100

O Factor 200 into 4 * 50

O Factor 200 into 10 * 20

O Factor 200 into 100 * 2 v

| The most efficient method is to factor 200 into 100 * 2.

Evaluate the expression V(xA2 * yA2) and determine which simplifications are correct.
y

Hint: Think about the properties of exponents and roots.
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Oxyv
O xvy
() yvx
( Vixy)

| The correct simplification is xy, as both x and y can be extracted from the radical.

Evaluate the expression V(xA2 * yA2) and determine which simplifications are correct.

Hint: Think about the properties of exponents and roots.
Uxy v

O xvy

O yvx

(O Vixy)

| The correct simplification is xy.

Evaluate the expression V(xA2 * y~2) and determine which simplifications are correct.

Hint: Think about the properties of exponents.
Oxyv

() xvy

() yvx

() Vixy)

| The correct simplification is xy.

Create a real-world problem that involves simplifying a radical expression. Provide a solution to
your problem, explaining each step.

Hint: Think about scenarios where radicals might be used.
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An example could be calculating the length of a diagonal in a square garden. If the side length is
V50, the diagonal is V(50 + 50) = V100 = 10.

Create a real-world problem that involves simplifying a radical expression. Provide a solution to
your problem, explaining each step.

Hint: Think about practical applications of radicals.

VZ:
| A real-world problem could involve calculating the length of a diagonal in a square.
Create a real-world problem that involves simplifying a radical expression. Provide a solution to
your problem, explaining each step.
Hint: Think about practical applications of radicals.

VZ:

| An example could involve calculating the length of a diagonal in a square plot of land.
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